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; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 4.67 5820 | FnLst | 0oo ~ 0.00| 1.62 8.67 Zzh s 1.00 | 5.00 ~ 56.00 5820 | =S | 5.00 ~ 5.00 )| 1.62 8.67
2 100kN/m#%#BZ25| 1.00| 000 ~ 1.33| 120.15 |3mZEBzB| — ~ — — — | 100kN/mi%# 2% | 1.00 | 1057 ~ 1501 120.15 [3mZEiBZ5 - ~ — — —
Zhst 100|133 ~ 9.11 100.00 | #ns | 000 ~ 911|233 12.47 Fhs 1.00 | 5.00 ~ 1057 100.00 | =nst | 500 ~ 1501|233 12,47
3 100kN/m#%#BZ5| 1.00| 000 ~ 0.77| 11148 |3mZEBZ35| — ~ — — — | 100kN/m%#BZ 5 | 1.00 | 1252 ~ 1632| 111.48 |3mEHEZS -~ — — —
ZhnLst 1.00 | 0.77 ~ 855 100.00 | #ns | 0.00 ~ 855|210 11.27 Zh st 1.00 | 5.00 ~ 1252 100.00 | #ns | 500 ~ 1632 2.10 11.27
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — -~ — — |3mZERBZ B -~ — — —
Zh st 1.00 | 0.00 ~ 749 95.71 | #nS | 000 ~ 7.49|1.93 10.33 Fhs 1.00 | 6,00 ~ 11.56 95.71 | NS | 5,00 ~ 11.56 | 1.93 10.33
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImERZS ~
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ZhLlst ~ ZzhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlsh ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhLst ~ ZhLlst ~ ZzhLst ~
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ZhLlst ~ ZzhnLst ~ Zh Lot ~ ZhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




